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Gemeinde: Lichtenau
Gemarkung: Grundsteinheim
Flur 5
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Leersknapp

302.9

WEA 24
ENERCON E-175

NH: 162,00m
RD: 175,00m
GH: 249,50m

Standort Geländehöhe
am Turmmittelpunkt:   297,60 NHN
Nabenhöhe:                459,60 NHN
max. Rotorspitze:        547,10 NHN

UTM / ETRS89-Koordinaten
Rechtswert:               32 492157,00
Hochwert:                     5720880,00

Gauß-Krüger-Koordinaten
Rechtswert:                   3492227,5
Hochwert:                      5722729,0

Geogr. Koordinaten
Geogr. Breite:           51°38`19,944"
Geogr. Länge:            8°53`11,991"

Gemeinde: Lichtenau
Gemarkung: Lichtenau
Flur 3

Rotorradius=87,50m

Gemeinde: Lichtenau
Gemarkung: Lichtenau
Flur 4

Fundament
ø 25,50m
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Gemeinde: Lichtenau
Gemarkung: Grundsteinheim
Flur 4
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